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The three most important things for having a happy and
meaningful life are family, friends, and good health. I think one good
idea for societal change is for the government to create regulations so
that people can still work good jobs but not be pressured into
working a lot of overtime. Because many men are working so many
hours overtime, they do not have enough time to spend with their
families. This has a detrimental effect on the health of everyone in
their families. Wives often have too much stress doing all the
childrearing by themselves—and husbands feel stress from not being
home enough. When men work too many hours, they cannot
exercise enough to maintain good physical health. (120 words)

(60 £1)




PR - AP AL TE (RAARRY AL YE)

%
m

HF - BLHH eEE (R B FRERER - AR 6 EE) | miEEEE | GC

ﬂ%;ﬁ" Ja— S SRE
[1] BT coRkOmLL R HRLICHET 530 E3A T, BN LR E
% EREICHRIRT 2 5 CHM ) & 55
oy |[B] FAISBT AL P 5 AN T 5 SR HA T, RR

i B % (LM IEIR S 5 SRR I 2 2 D,

[38] fEC#BEIZSNT, BODEZRBNERETERIATE S NEDD,

Fic 25 40%

M1 204 (@458 M4 458 ars ()4 )
2 144
13 164
R4 14 4
95 164

PR il 45 30%

(5%50% 200 /4
it AL fi1 8.4
2 20 M
3 124
14 204

i 25 0%

60 /5






